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Fifth Semester B.E. Degree Examina$ignriluly/August 2021
8O5{ Microcon,tro'fter8051 Microcon,f,ro'fler

rime: 3 hrs. 'ffiii'i* 

"

Note: Answer any Fr,vEfull questions. 
.,.=-,-"liYu"' 

Marks: 100

fu \e 'qd'il-I a. Explain the architecture of 8051 microcthttoller with a neat diagrarii..tr (10 Marks)

b. Compare microprocessor and micro'&atroller. (04 Marks)
c. Explain the working of port 0 apd 1 with the help of ngpesstry diagram. (06 Marks)

- -":

2 a. Show the internal memory aiiliiution of 8051. . q (06 Marks)
b. Explain the interfacing ffirttetnal ROM and RAII, 

",*,.a neat diagram. '"& *1.,-"\ (10 Marks)
c. Explain the addressabilit$ and byte addressability with examples. (04 Marks)

"ff u n:--

3 a. Explain the dif&i&rt addressing modes witlilffimples. (08 Marks)
b. Explain the following instructions with examples.

i) DJNkm; again ii) MOV [, Jll ..,,, iii) INC Rl iv) DA A (08 Marks)
c. Write,ah=A*,P to add two l6-bit 4191ffirs. ,,,,,r,,,.Hr,,,, (04 Marks)

11
1ir

4 a. Write an ALP to transfer the d'dta bytes l0h, 20t, 30h, 40h, 50h {o memory locations
60h, 6lh, 62h,63h,64h witltotit using loops. :::=, "* M (08 Marks)6Uh, 6lh, 62h, 63h,64h wtthotit usmg loops. _=,,ii.,,,,, ."* l"** (08 Marks)

b. Explain different rotate im ctions with exampl€s-. (08 Marks)
c. Mention the flags of PSlVidnd its applicatioas ia ihstructions. * " (04 Marks)

"dr 
":'i 

, ";" ", .^1t '*,.- 1,:
5 a. Explain the se-qtltffi8b of events when-a"ball opcode orcui 'the program and use of stack

with necessary"d'bAram. (08 Marks)
b. Write an ALP to find factional of 8-bit number. The result should be maximum of 8-bit.

" tu--.* , tr* , (06 Marks)

c. Write.ffiP to add fust 10.1i?*lf'al numbers. ="''- (06 Marks)

. 'e 'd

6 a. .,Wrifle an ALP. to furd smqllest number in an anay of l0 bytes from location 60h. (10 Marks)

b-.:::TS'how different jur4p jgrstfuctions in 8051 with diagram based on range. (06 Marks)

bruin the Fig aO(q)fh#fte an ALP to turn on LED when switch is pressed and turn off," LED when switcffinot pressed.,*ffi,,

't",."i
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Fig Q6(c)
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(04 Marks)
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*J,P,
7 a. Explain the brief the operation of timer in mode t q$qrgdae 2. Also calculate the maximum

delay for both modes f XfeI- is 11.0592MH2' : 1., (10 Marks)

b. Generate a waveform given in Fig Q7(b), if m g.: 11.0592MHzPl'3 use timer 0 in

mode 1.

.:l{$tu;::,S

s,;*ffi:. .

$'

,*::,;; T looatS
[l-, tr' Ei^ r1?r/h\

,:,,{5* Fie Q7(b) (10 Marks)

;

'"'::;- {si'{r' .iq-'f1{llz 
using timer 1 in mode 2 Assume8 a. Generate a square wa-vetof'frequency of lKHz and

XTAL :22MHz. .q.:,1 *fu r a - --_ j.^^ +L^r e\r,r
b. Write an g05l Cpm$h to send two different strings to the serial port. Assuming that SW

is connectea topifufli.0, monitor its status*i*Lmake a decision follows :

SW = 0 : Send'your data as BE .,*. v

SW = 1 : Send your data as VTU
= 11.0592MH2, baud rate of 9600, 8-bit data, 1 stop bit' (10 Marks)

qt"{b

w {- "" Et'.

9 a. Two switches are connected to*iini pf .Z and P3.3*'Wffien a switch is plefjed, the correspond

lines goes low. Write an asse ble hnguage plgqlffiFq= . .s goes low. wfrte arl asuillrurE r4rr6u4tss Prwr6jca.r:v s 1'

1) Light an LEp's @ected to iort-0 , idFrl$t switch is press6ffi*

.tr 
,,::{}hd;,

.#. . ,i:,,, fiq.=r$

t0 a. With a.={fuI diagrarn, explaffiqfacing of LCD 1offi 1. (06 Marks)

b. A sffi,lfrii corirected 6.em pP i Write a assemblf language program to monitor the status

of SW"and perform the follgwing :

", -i) tf SW.= 0, the bteppbr motor moves'clockwise
#" ii) If SW = l,1\gstdpper motor mffi ,,,Uounter clockwise. (08 Marks)

.*ry.]Uitfr'the neat dlp#ffi:, .iptain the_rnteqfading of ADC 0804 to 8051 Microcontroller 
Marks)

d'q4;.ffi'; #"::+
:ti+' 

.::.:: 
* 'l' !F * 't

itl rfifrt alt LED'&t'bflnected to port ?+,-tlfie second s.wftch,[s!t:t::d . (10 Marks)

ldf"b00tot periodp#l,,p:rr-2'5' Use timer 0 in mode
YtJt a c pl:g:lT to*create a square wi 

Iffi pr .7 andsend it to p1.0.
2. Assume XTA*= 1'1.0592MH2 Sffii#ously Set datffiu= , 

(10 Marks)
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